BRHEETXEZOMTEREER (HRER) 1/3
REHR : FRR27TE10818 (R) ~FERR27E108318 (1) (BT @ N 9LIb/kg)

E23E] N o - C-i= BHERRBE] | . EHRRE
== A7l mB EREHD (108) 940134 (94134) Y9h137 (£994137)
EES 5V BRI P IH(£)| I BE 12.9 | " &HE 11.3
2 |HE P BLHmEEIZFE|21H0K) | A&H 11.1 [ ~&H 9.7
EEEES IY =AY 29H (K) 21.9 11.4 60.1 12.1
M EES I X (F1) [BRLLTAHEE] 1BHX)] ~&E 12.5 | " &HE 11.1
S EES A—sLRTo @) BT =FEHEETILIO] 226 (K)| A%&H 11.6 | A& 10.3
EES ARF+ BLUTRENZTE| 2H(E)| A% 1.3 | A1&H 10.0
[EES ARF+ BRI AHRET 2H(&)] F2E 11.6 | &HE 10.3
EES HUZ757— [BLHTHENET TS| 1HOK)| A 10.5 | " &HE 9.4
CIEES F Y ELHHNE FMTE [ 1H(R)| ~&E 10.5 [ A~&H 9.2
ITEES E R BT 185 (H)] ~&E 6.0 | A& 7.3
EES Fa1ol 1L h = /R ET BHW)| ~&H 1.7 | A&EH 10.4
IFEES avNy+ 8L A ST THOK)| AR 12.6 | A~1&H 11.3
13 |5E IV 1E 8L Th AHEET 5B(B)| AiEH 12.3 | A1&H 10.9
IMEES YA E BB LT AHRET 13HN)| e 11.8 | A~t&H 10.8
(FEES YYY1E 8L = HET 1H(K)| A& 12.5 | A1&H 10.9
[FEES HYVALE BE|llh 206 (M) | g 10.9 | A~t&H 9.6
IEES HYUNAE (fn) |BRUh= #EHETILUO] 218 0k)| A1&H 11.3 | A& 10.0
[FIEES YA E (Bn) |BBUTH=FEHETILO | 26H(B)| A%&H 12.8 | A& 11.3
19 |5FE Yh1E LU Z=[RET 13HN)| A& 1.9 | A1&H 10.6
20 |Fx Jv M1 E ERLLI™ AT THOK)] ~&E 12.2 | A~&H 10.7
AINEES =V 8L A ST 26H(B)| A& 1.6 | A1&H 10.2
EES FOoASY (F) |BBLUTHIXE 90 ()| AEH 6.2 | A& 7.5
I ES Z0v3dYU—  [FIUTHHENE TS| 28H0K) | AM&EH 10.2 | A& 9.0
Y EES —2av BLmEXALBALE| B E)|] ~MaH 6.0 [ A& 7.3
25 |k GiFk. BEk®) |FFAIK BLUFREEORE |2180K)| ~aE 5.1 | <& 4.8
26 |k GiFk. BEk®) |7KE7K LT =EET 16H (&)| AM&H 4.7 | A&HE 4.2
27 |k GiFk. Bw=k®) [JEIK S HRERR R 1H(K)| A& 4.7 | A& 4.2
28 |l -0 ([FI XY (7n) |ESlUmEVEE] 13H(N) 101.0 11.3 448.0 11.8
29 |lUIE-=E02FE[(vUST BR A ER e U HT 26H(8) 10.3 7.6 24.3 7.8
30 |- ([oUSS () |ESlUmEVEE] 2QTHCN)| A& 12.1 7.8 6.0
31 [IIFE-FDC iE J94545 OKR) [ESUmArlT7xE 8H(K)| A1&EH 14.4 19.2 6.7
32 [lUER-=ncfE|[au5y5 kR) |BflUmiimEI/E | 158 (K) 12.1 5.0 88.0 13.8
33 |LLE - %@:iﬁ 15 R S BT A2 23H(&) 16.3 12.9 70.2 10.8
3 I -FDCHE |15 OkR) |BLUTmHEETEE] | 235 (R)| A& 14.7 | A&EH 5.6
EENEREDD A PPER: H T 1H(K)| AR 7.9 30.3 6.1
36 |l -ZOFE([VETUIIXY [BSUmERVERTZFE | 198 (8) 11.4 10.2 12.4 7.6
37 [lUER-=ncfE|[>OI XY =EMS 30H (&) 17.6 8.9 72.5 6.9
38 [lUER-=ncfE|OIXY G EEEEEIED) 34.1 10.1 155.0 6.8
39 [lUER-=ncfE|[OIXY BR A ER e U HT 26H(B)| A& 16.7 17.9 8.0
40 I -FDC iﬁ F v+ XY LS5 [BSRmERILIRIRFT 16H (&) 34.4 9.1 141.0 7.9
4 [IUFE-=DFE|F X3 LT HEBIALE [ 23H(R)]| A& H 12.0 13.6 5.8
YINEER amziﬁ F X3 HR AR m T 29H (KR)| A& 15.2 37.7 6.6
43 IE-=DCHE|[FXT BR R ER LI IR AT 26H(8) 7.3 6.2 51.2 6.3
4 I - =0 2E|F X3 (#n) SEEWT 23H(&)] ~&E 15.6 17.8 7.4
45 IE-=0CFE |- XT3 (7)) LU ERATZHE | 16H () 11.3 5.7 24.8 5.6
46 (I - EQCEE[FS55 (1) [ERREREEAH 23H(&)] ~&E 7.7 | ~&E 10.8
47 INFE-FEncFE[ESSS (Gn) [BRLUSHEAE [23H(®)] FA&E 6.8 7.1 5.2
48 |IUxE =D iﬁ =394 F) [BfLmikH 10H (1) AEH 6.2 | A& 7.5
49 [IFE - =D |LF5T RGN 15H (K) 6.6 5.3 25.7 5.7
50 |LLEE - é‘eo)liﬁ LFEHT =AY 200N & 13.1 23.7 6.0
51" [lUIEE - D [(LF5T ANoaEke LIBT 30H (&) 13.2 9.0 52.1 7.1
52 |l -ZEDFE(LFH5T 8L h 2 EET 1985 (B)| 1~ &H 8.7 17.2 6.5
53 | -EDCRE[LFIT ELHArERIRE [ 298 (R) | ~MEH 11.7 27.3 5.4
5, [l -=DcfE|(LF5T U =FEHREET T<FE| 27TH (N) 37.4 9.3 156.0 8.8
5 |IUE-ZOFE[(LF5IT B8 EB R en (U HT 29H (KR)| At&H 10.8 19.2 5.0
5 |LUIEE -0 [(LFSIT B8 EB R ea {CHT 30H (&) 11.0 10.3 18.0 8.0
57 [lIEE-F0DCZ iﬁ LFEHT BR R ER LI IR AT 26H(8) 7.9 6.0 38.7 6.0
58 |l -=EDFE(LFH5IT BB EREE 1R T 2TH(N) 11.4 5.4 28.3 5.5
59 [ILEE - %@Ziﬁ L¥HHF (Zn) |2FENTH 26H(B)] ~&E 12.3 | A &HE 11.2
60 [ILE-=DCE[LFST (Tn) [&FEMH 28H0K)| A &E 6.8 | A& 8.4
61 |ILEE-=TDCFE |tV RY AR 200N & 13.6 20.2 6.4
62 |R=E 7re 8L A ST THOK)| AR 6.7 | A~t&H 7.6
63 |R=E AFID alllEE] 4 5H(B)| A& 7.2 | A& 6.3
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(B4 1 A*9Llb/kg)

E23L] — o = = BHERERE]| . wHRRE
== A7l mB EREHD (108) 940134 (94134) 90137 (£994137)
64 |R=E AFID BILUHFTEH 1H(K)| A& 12.8 | A~1&H 11.3
65 [R=E 1FID ELLHEERTEE 1H(R)| ~&E 10.3 | A&H 9.2
66 |[R=E 1FID S L E BT A FE 5H(B)|] A& 6.6 | &L 5.8
67 |[R=E 1FID EB LT AR 2TH(N) | g 10.3 | A& 9.1
68 [R=E h+ BLUhEEH 218 0K)| & 7.9 11.8 9.6
69 [R=E kS BTN EHT 13HCN)| & 11.9 | A %&H 10.8
70 |R=E hF EBILUmEERT K]l [21HOK)] A&E 10.1 [ A%&H 8.9
[EES h+ EILUTERIDTA | 29H(KR)| A& 10.7 | A&H 9.6
[FEES h+ BLUTEHEIZHE | 9H(R)| A &E 10.4 | A&H 9.3
73 |R=E h+ BLUTEHEIZHE | 9H(R)| F&E 9.9 | & 8.7
[EES h+ EBLTEHIIZHEF [ 16H(R)| ~&RE 8.7 | A& 7.7
75 |R=E hF BLTEHTZHEF [ 195 (A)| & 10.0 | & 9.0
76 |R=E h+ BT AR 21TH(N) | g 10.6 | A& 9.4
[HEEES hF EB LT AR 2TH(N) | g 11.0 [ A%&H 9.9
78 |R=E kS BBLLImh A ~FET 13HCN)| & 12.1 | ~&H 10.8
79 |R=E h=+ BBLLImh A ~FET 13HCN)| & 15.5 15.5 7.4
80 [R= h+ BBLLImh A ~FET 16H(£)| A &H 13.1 [ A~&H 1.7
81 [E= hF BB LLImh A ~FET 20H(N) | ~i&gH 10.3 | A~&H 9.3
FPEES h+ BBLLImh A~ ET 23H(®)| ~&H 13.4 8.3 6.6
83 [R= h+ BBLLImh A ~FET 26H(A)| A~ &H 11.7 | A& 10.4
EES h+ BB LLImh A ~FET 2TH(N) | g 10.3 | A& 9.2
85 [R= h+ BB LLImh A ~FET 28H(K) | Ai&H 11.3 | A& 10.1
86 [R= h+ BB LLImh A ~FET 28H(K) | Ai&H 13.0 | & 11.4
87 |R=E VRS LU= A HHT 26H(8)| A~1&H 12.7 | A~&H 1.4
88 [R= h+ LR 17H(X)| & 4.8 | & 5.8
89 [R= h+ LA E THOK)| A& 6.6 8.2 7.9
90 [R=E h+ I IERN=E=] 19H(B)| A~ &E 10.2 | A~&H 8.9
91 [E=E h+ ELTHNE FMTE [ 16H(R)| ~&E 8.2 8.4 7.2
92 [BxE h+ ERLLTHHNE FMTE[30H ()| & 9.3 | & 8.2
93 [R= h+ L= HET 8H(R)| F&EE 10.0 | & 8.9
94 [RZ= h+ L= HET IH(&)| A& 10.8 | A& 9.6
95 [R= h+ L= HET 15H(R)| & 11.4 | ~&H 4.9
96 [R=E h+ L= HET 19H(B)| F~&E 12.2 | A& 10.8
97 [E=E kS L= HET 19H(B)| F~&E 12.3 | A &H 11.1
98 [R= h+ L= HET 20H(N) | N i&gH 11.0 [ A%&H 10.0
99 [R= kS L= HET 20H(N) | g 9.7 | Ni&H 8.6
100 [R=E hF LU= A LLB] 15H(R)| A~ &E 8.8 | & 7.7
101 |R=E ks BLmEXLBAEHE| 27TH ()| & 12.6 9.1 6.0
102 [E=E kS LT =FEHIIEE] 9H(®)| &L 11.3 | A& 10.1
103 [R=E kS LU =fEHAEE | 28H(K)| AEE 13.2 | A %&H 11.7
104 [BEZE hF LU =fEHAEE | 28H(K)| AEE 13.1 | A%&H 11.7
105 [R=E kS EBLUh=fEHE]=ZM | 5H(B)| A&EE 12.7 | A& 11.1
106 [R=E hF EBLUh=fEHEI=ZM | 5H(B)| A&EE 11.6 | A%&H 10.3
107 [B= hF B =FEHAT/\ME | 6HCN)| A 9.7 5.1 4.6
108 [R=E hF LU/ \LLH 17H(X)| & 8.6 | ~M&E 10.5
109 [R=E hF BBLLImhE) [1H] 14HOK) | & 13.0 [ A&H 11.5
110 [R=E hF a8|llm 5H(B)| & 10.3 6.7 5.1
111 [BE e HA™ 26H(A)| A& 9.9 | & 8.7
112 [B=E hF NEELELBT 155 (K) 16.0 10.3 92.8 12.7
113 |R=E hF NEENELET 155 (K) 11.5 9.8 59.5 12.1
(MEES hUuYv BB/ R 23H(£)] gt 8.4 | ANi&EHE 10.1
115 |R=E F4 8L EHET 0H (&) R H 11.5 | A& 10.0
116 |R=E IR BUFHEsr 6HCN)| EE 12.5 11.9 5.9
117 [BE g1 SRERE AT 15H(R)| A~ &E 11.1 | A~ &H 9.9
118 |R=E HILFY EBLLI T AHET 22H(K)| A~ &H 10.0 | ~i&H 9.0
119 [R= 7 HA™ 5H(B)] & 7.0 | ~&E 6.3
120 |R=E 7 HA™ 5H(B)] & 6.7 | &L 6.1
121 [B=E Ny 7 )LD — BT ERERI S HE | 22H (K)| @ H 10.5 | & 9.4
122 |R=E I\ Z )LD — [ BRI AHE] 2H(AKR)| A~1&H 10.3 | A&H 9.3
123 [B= TIL—ARU— (B LT =tEHBTEFH | 30H (&) 31.9 8.6 146.0 8.8
124 [BBZE 11X I IERN=E=] 19H(B)| F~&E 11.7 | ~&H 10.2
125 |[Zoftt NG ERLLEMIZHEF [ 15H(K) | & 11.6 | A&H 10.1
126 |[Zftt NG EIGERN=E=] 8H(R)| A&EE 11.5 | A& 10.0
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REHR ¢ FERTF10818 (OR) ~FR275F108318 (1) (B : A" Jblk/kg)
E3E] = = o ®RER | . RIERAE| . RERAE
== ATV mE PREN M (108) | ©94134 (t594134) Y9137 (£994137)
127 _[Z0fth =] BB TR EHETAREDR [ 266 (B)| A& 9.7 | A& 8.5
128 [0t 102 TEE 298 (K)| A& 11.1 | A& 10.0
129 |[ZDfth BN BRI EEET RS | 288 (k) 18.1 6.5 91.9 7.4
130 [ZDfth BN BRLLITh 5 S HT 15H(K) 21.9 7.5 89.5 6.4
131 _|Z0fs EA AL =48HETILO | 5H(F) 61.6 14.3 305.0 9.1
132 | Z0fis B+ LM =1SHET=R | 6HON)| AREH 1.1 [ A&RH 10.1
133 _|Z0fis Tt ELLUhENBETSE [ 298 (K)| A& 9.5 | P&RH 8.4
134 | Zofth =3v7 (HEpE) |BNLAHZRETSHE | 2H ()| fMRE 1.4 | P& 6.7
135 |ZDfid EEE ERLLThEMBET K] [ 26H(B)| AEm 11.5 | A&H 10.1
136 |H2TEFEEXK K (XXK) ERLLITEREET oA [ 28HOK) | A& 7.0 | A&RH 6.1
137 |H2TEEEEXK K (XK) ARLLITT A BT 8H(K)| AR 12.3 | A&H 10.8
138 |H2TEFEEXK K (XXK) ARLLITT A~ HT BHCN) | AEH 8.4 | AM&RH 7.4
139 |H2TEEEXK K (XXK) AR LU= A FHHET 20H(CN)| AR 12.0 [ A&RH 10.7
140 |H2TEEERK K (XXK) ERLLITHEREHETAIE [ 28HOK) | A& 7.7 | PEH 6.8
141 [H2THFEEK K (EEK) BSLLTHPAEHET 48 [30H ()| A& 4.7 | P& 5.2
142 |H2TEEEXK K (XXK) FhEm 29H(K)| AR 12.4 | A&RH 11.1
143 |H2TEEEXK K (XXK) A AR =R HT 22H(K)| AR 12.5 | A&RH 1.3
144 |H2TTFEEK K (EEK) = 298 (K)| A& 10.8 | A& 9.6
145 |H2TEEEERK E(=E) BLmaEETAE | 6HCN)| AM&RE 6.2 | AM&RH 5.6
146 |H2TEEEEXK E(=E) AR A~ ET 8H(K)| ARt 7.5 | P&EH 6.9
147 |H2TEEEEXK X (BX) EENIEEES ) THOK)| A& 7.1 | P&EH 6.3
148 |H2TEEEXK H5XK (XXK) |BBLUHAAHETEM (308 (E)| A% 4.8 | PERH 5.4
149 |H26FEBIEIER K (BXK) MHE 16H(£)| AEH 13.2 | A& 11.6
150 [H26FEBRIEXR [HEK (BXK) |FA=mh TH(R)| A& 9.4 | PRH 8.5
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